RIBEEEGE

BB TR A R E]

53




— ~ wIHEH

ZomIRE: 200t/mA(ERTRE)

FIREEPFHRT: 1.k x0.8mE x 1.Tm &

& ¥ 59/1.7=34.7- #%8 36 &

PREEEIHFFLTRL > FABaFaBRRMAIZIEIRS
EERBFTOAREXITG  LAFERRAUELRHEEINBREZRE
E -

BEBZHEFIUZARXHE  ZARUBREREENRE -

R ZAXHEEULEE$(59-6.8)/1.7T=30.7T- 4E 328
HRZAXEEALRB#(59-14)/1.7=26.5 4 & 28 &
REREHRELYHTE 36 B

— -~ EAHHABRE

484+ - SPHC
&4k 3% & Fy=2200 kg/cm 2
B 3 E=2040000 kg/cm?
#4-3%# 1 ASTM A307

=Z~RIHIIARE

REYT BB RERAENR

R EYHBRITRERAER

FEREZEYBERTGTIREAR
-BHBRABIERBRER




wREHE
1-&8%
£/EE 7 4]l kg
36 & 3t 1476 kg

22
E@E 7 1. 8x0.8x200=288 kg
% 5Bk - 2311440 kg (45 HERE)

3~HEA
0. 25W

4~ RARE
4.1 - KAEBRE

2
q=§—oi/z £+ V=55 m/s

HHBARLTF :
h q (Z) (kg/m2)
60 281
50 268
40 254
30 236
20 213
10 179

4.2~ REMBEHHREZITRE

EARRESE
a-~ MM FMAB 0 LB RT TAE B2
SERBTE -
b RAWH AL : 80E 10 ARG - AHR 0 FEFRIIND
HFHRR V0 (C) KA 42.5 DR/Bd .
c- At I=1.0 Rl %%&
d- R#BHE: @§ EEH R
q (2) =0.06 K (2) Kzt [IxV10 (C)] 2 P
K(Z)= 2.774 (Z/Zg) 22 : Z > 5m b ""i%,",‘,‘f‘?“\\‘%‘\
2.774 (5/7g) %@ ; Z < 5 T g‘j?w

I"'l:-ac!"'
Kzt=1.0




£+ Vio (C) =42.5 w/'s

K (Z) q (Z) (kg/m?)

a=0.25

Zg=400

I=1.0

Z
60 1.07
50 0.98
40 0.88
30 0.76
20 0.62
10 0.44
RRREEF
RREHKRA 177
R BRRLT

Z q (Z) (kg/m?)
60 159
50 147
40 131
30 113
20 92
10 65

4.3~ R RBRATEZARE(3. 1 8)

4.4~ FkE

SpEHZ 2@ HE - FLEE 0.35

4.5 REBG#
Z2>ERRAHH=]1.6

4.6~ It RE
/4

q (Z) (kg/m?)

60
50
40
30
20
10

89
82
73
63
52
36

90
83
74
64
52
37

3 SRS S¥s,
45 Ss



Z-BEME

1~

XX BEBRRZ

RXABBEFFARBRET G NLHRBZB > LEIFRIBAEF]
ARUEHER REAFHRERLER > B4 A 10054

Z2HF¥A 1 (1.02x 7 /4)x0. 7=0.55t = 550 kg

BEEAKRIEES 41 kg 36 B £3+ 1476 kg

KT RME /714 0. 25x1476=369 kg

EEEAERBXIER

AAEFRU]:]

BEEARA : (369x2)/2=260kg < 550 kg OK

2~ IR

3

UAFE3.6nfiE 54 3. in BE% - BXELE
BEEBZBELRAAN - 132x3.6x3.4=1615kg = 1.615t (ZARRAH)
HRFKA /8 ox2.1t BT

ZFHFa A 1.27x0. 6x2.4=1.83t > 1.615t OK

Bl Z4s#3k A HILTI HSA M16 BSAR¥EA

ZFHFH A 18.5 kN = 1.88t > 1.615t OK

I EIANE
27 ¢x2.2t48% :0D=6.0cm
1=17.1 cmt
A=4.03 cm?
r=2.06 cm
L=170 cm
KL/r=170/2.06=82.5 < 200 OK g&g;%%\
-, 1z >,
Ce=+27 E/Fy =+/27 *x2040000/2200 =135.3 R
A =3
(kl/r) /Cc=82.5/135.3=0. 64 3 FEE g1
iz HITS
- (kL/ r)2 Fy 2 2’?&\’%’00 ‘Bé":\‘\\@s‘\\
P 2Cc? (1—0.642 / 2) './,@B’”I/m!'“ -
a= - = - ‘t‘
5 3(KL/r) 1[(kz/rf ] 5,3x064 0.64° g ""u,_.,,,%-”'
— g | —4+ —
3 3\ Ce 8| c 3 8 8

=(.42Fy=1.02 t/cm?
Pa=1.02x4.03=4.11 t
Pmax=(1.44+1.066)/2=1.25t < Pa=4.11t 0K




4~-=ZA%:

£120cm: 5 60cm - #:# & 134 cm

Fifg: 1. 8m

##E 2L-50x50x4 ~ 442 L-50x50x4

EARE 36

RAZFRE - IR(—EAREL)

W=288x3+41x23=1807 kg

& %4 P=0.904t

#2322 A 1 P=0.904x(134/60)=2. 02t

#4254 L-50x50x4 : r=0.98 cm
A=3.89 cm?

L=134 cm

KL/r=134/0.98=137 < 200 OK

Cc=+/27 *E/Fy =27 *x 2040000/2400 =129..5

(kl/r) /Cc=137/129.5=1.06
127%E
a:______
23(KL/r)?
Pa=560x3.89=2177 kg = 2.18t > 2.02t OK

=560 kg/cm?

S ZARBER&ER:
g AR# A T=(0.904x1. 1+0. 904x0. 3)/0. 6=2.11t
KAH A :V=0.904t
Bl 24223k A HILTI HVA MI6 {234
EF2% - FH1%
ZHa A 24.8 kN & 2.53t > 2.11/2=1.06t OK
ZHHA24.7T kN % 2.52t > 0.904t OK
&
1.06/2.53+0. 904/2.52=0.78 < 1.0 0K
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